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Continue ces 7 suites en respectant le pas et le sens. 

 

 

7,000 7,025 7,050 7,075 7,100 7,125 7,150 7,175 

Suite croissante.      Pas = 0,25 

12,07 12,05 12,03 12,01 11,99 11,97 11,95 11,93 

Suite décroissante.      Pas = 0,02 

9,04 9,03 9,02 9,01 9,00 8,99 8,98 8,97 

Suite décroissante.      Pas = 0,01 

3,20 3,35 3,50 3,65 3,80 3,95 4,10 4,25 

Suite croissante.      Pas = 0,15 

4,77 4,66 4,55 4,44 4,33 4,22 4,11 4,00 

Suite décroissante.      Pas = 0,11 

2,21 2,11 2,01 1,91 1,81 1,71 1,61 1,51 

Suite décroissante.      Pas = 0,1 

1,005 2,010 3,015 4,020 5,025 6,030 7,035 8,040 

Suite croissante.      Pas = 1,005 

 


